Dvnamics Notes
Friction

More about....Friction!
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There are 2 types of friction: Note that the irregularities in a static object
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I (a) Calculate the force of friction between the (b) Would the amount of friction be :
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Ex: An object with mass of "LQ kg is pulled along a horizontal surface by a rope that makes an angle of o ¥
with the horizon. If the coefficient of friction is {35 and the tension in the rope is “+>. N, what is the

acceleration of the object? Z\:)(__: m O FN FM

/ ~ Ehymaro

m \oN
F
- ¥08\£ o
= 4Heo ?;‘ -0(0.1) ’-ggs AN

-_.J




_x: A 15 kg block has an acceleration of 2.2 m/s> down a 30° incline. What is the magnitude of the friction
force and what is the coefficient of friction for the surface?
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